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1) Find a simple methaod of simplifying each of the fallowing
d} 20x68%25

e} 200+ 5754 + 500

f) S0x47x2

a) T+ 29+ 71
by S50 % 2 w0537

]

guw 27 w25

ALBCHBRE & THE RUMBER LIAWS

delightful

g) 73+ 842 + 125
h) 4w ddx 25
i) 184+ 346 + 16

2] 51mpl1fghy 'G‘W'Qf'\‘\{ S\JbJQC‘I'

al 3y+ 7y 9t + 0 i 7t+ 3t -t 5] (3y+5yix7

bl bxk h]l 4da % b ny 3y- 4y + 3y t] (5t + Ttis 2

£} Sk ® dm il 5d=x 3d o) Byx3Iyx0 u) Sr+8y+9r-y

d} Bab + Sab ji By= 3 pl 3f + 5t + af vl 3t -4t + 5f

CYRR=IT k} Ty=-uy q) 28fg+ 7g w9k w4k w1

fi 3y+a6+ 8y 17 6d+ 2d F1 2yZ=y ¥l §-5e-3
it's so exciting

) Expand

a) Z(p+d) f1 tig+hl kl &(5d+ 7q) pl Siy -7l

by S(3e - 2) q) Ytk +yl 17 Sbidb + 4) q) 6risr-2)

cl 4k + 3r) hi Syiy + 5 i Shisr - h) r1 d{St + 3)

dy  4(5f - 7 iy 4f(3f -3 ny  Eaf + 23 51 diaf + 9)

Bl 2{Bh + 4) il 4ier - 7] o) Bmiim + 3) t) F(7y + 8)

TS TIE

4) Expand and simplify

a) diSy+ 31+ 3(Ty + 2) g} Tt+iSt+d)-12 ny 7t + 50+ 201 - 5t)

by S(5f + a6} + 3(7f - 3) hy S{9k + 6y) + 19k o) 3i8h +4) - 48h - 18

c) Bl6g+ )+ 7F(5g+ 1) i3 3(6] + 4) +5(2y + 6) pr 3(5r+5)+ Fir-4)

dy Qidk + 311 + 5k + 2f) kil 3(6 + 5t)+ 502t + 3) gy Giad +2)+ 4id - 2)

Bl Fk+5(3k+7)+09 13 Gily+ky + 7(5y - 1) ri 307 + 5yl - S0y

f1 2(5r + 71+ didr + 7y) m) S{Fy+4)+6y-13 ) BI7Y+3)+ F(Fy - 1)

EJJAS?;?HDEEEGF’? PEGEE Jiwe v Miore (‘_’JF thig WITJY‘J{‘

al 3y + 5y il 4p-p-p g} axa Yl 7y oy

i 4t w7 i o3nx i ro12y+ 3y 2l 9+67-3

cl Bg+7g-qQ kl Tk -6k 5) T+ +5f Al TL+0

di Bh-h 1 15w+ 3 t) Iyxox4 B) 15bc< Sh

B} Ak=k m) 4t x 4t u) Sy + 7y - 4y C) Sy+y3

1 2a+ dm + Em ny Sf+ 7y vl Gt - 3t 07 9abc = 3bc

Q) 3T+ f - 3f o) 3Fab + Sba w) 7od - od E} 8y = 3y

hY 5d = 7d Pl 2r+ T+ 2r ¥l Bk = 8k Fi 3Ze + 6t -e

6) Factorise

al Ty + 35 9r + & gl Sk + 10 g} Gy + 56 il 4h -8

by Gp-15 d) 2ay + ap f1 35y - 10 hiy 12d -3 iy oyd+ 3d



